SH6EI0B290 (AEH) 14179
IS - s v (KEER) 1485175

Bl

KHTE #HEER SM65£E10A29H (KFER)

KEBE=ERT. BMYDBOBBII—HEET S0, At REFENOBERNRIZ—HBLBWEELH D,

YA iEPS] B=H [Ekzikax: = BIHE
5 1,338 113,245 114,583 102 %
RE 652 52,821 53,473 73 %
= 1,990 166,066 168,056 91 %
Bfi i kg, M
i oo oo EF A
x| e g |REAE HEAR TEm Y= w0l =6 s e
HE(FWTA 28,080 |& W AAL 290 | 10 540 324
ES 10
=82 10 540 216
GEpS 27,790 | T3 10 | 1,080 972 864
ES 10 | 1,296 | 1,188 810
£ 10 864 648 432
M 1,336 | % 1,336 | T3 0.8
a3k 5
By 0.8
ICALCA 14,000 | #8%¢ 14,000 [dbiE 10 | 1512 972 756
FE 10
BH 10 972 756 540
halE 3! 1,496 | #Ext 1,496 | &7 4 1,296 1,080
BRS
By 4
F Ry 1,550 [& Y AAL 100 |B$ & 10
FIE 10
BH 10 | 2,160 1,944
GiEDS) 1,450 |3 5% 10
FE 10
i 10 | 1,944 | 1,728 | 1512
L &2 380 | W AR 20 |2k 10
RE 10
£ 10
GERS 360 |2k 10
=% 10
B 10
F<En 4,964 &1 AAL 414 |REF 15
i, 13 756 702
£ 15
zhs) 4,550 |R% 15
5 13 864
B Hy 15
ZEON 911 &Y AAL 31 |2k 0.2 86 76




SM6FI0F29H (NFERH) 1485175

HIFTHE - @&
KHTE #HHETR $HM6E108298 (KER)
Hfi: kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
BER 0.5
By 0.5
iEpS 880 |, 0.2 86 76 65
ER 0.5
By 0.5
EF>NAZSD 1,734 |2 Y AL 26 |B£5% 0.2
Z 0.2 97 43
By 0.17
X 1,708 |3t 5% 0.2 140
ZHH, 0.2 108 54 38
& 0.17 140 108 97
hE 4,369 | #Ex 4,369 |dbimE 5
55 5 2,376 | 1,620
By 5 1,944 | 1,188
Joyay— 1,252 |[& Y AAL 84 |duimE 6
RE 6
B 4
GiEPS) 1,168 |dtia& 6
=¥ 6
B 4
Tl 3,884 & W AAL 25 |35 5
BE 5 3,240 | 2,700
BH 5
GERS] 3,859 B 5 4,104 | 3,564 | 1,944
BE 5 4,860 | 3,780 | 3,564
By 5 4,104 | 3,024 | 2,700
N ESCR 5,980 |+ 4 AAL 70 [dbEE 10 216
By 10
GERS 5,910 [dbiEE 10 | 25592 | 2,376 | 1,188
By 10 | 1,080 756
AN 4,540 |+ W AR 40 | =0 0.4
i) 0.4 130 119 108
& 0.3
bS] 4,500 [=%0 0.4
5 0.4 130 108
By 0.3
k< b 2,636 | #@xd 2,636 [T 4 1,620 | 1,080 540
A& 4 3,780 | 1,944 | 1,728
£ 4 3,564 | 3,240 | 2,700
SZhwh 288 | @ 288 |BER 3
FE 3 2,700




SM6FI0F29H (NFERH) 1485175

HIFTHE - @&
KHTE #HHETR $HM6E108298 (KER)
Bifif : kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#{w% —
FEHR aniE Hi| =fE B =&
Ry 0.2 238 216 194
-~ 4,462 | &Y AR 38 |Zkik 0.15
=F 0.15
By 0.15
iEpS 4,424 |3, 0.15 119 97 54
=F 0.15
By 0.15
Cehd 8,020 | X 8,020 (db/EE 10 | 1,728 | 1,188 1,026
By 10
ToF0H 7,995 | 4B 7,995 |FE 5 1,080 756 648
24, 5 1,836 | 1,620 | 1,296
By 5
T 653 | Y AfL 146 [BE 10 | 2,160 | 1,944 [ 1,620
FEE 4
BH 10
GERS 507 |&#E 10 | 5,940 | 2,160 [ 1,080
FE 4
£ # 10 | 3,024
mELWET 112 | 48 112 |#H 0.1
=F 0.1 162 130 92
& 0.1 259 130 119
Z DEF 15,941 | Y AAL 54
GEpS 15,887
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HIFTHE - @&
KHTE #HHETR $HM6E108298 (KER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
RBE | A 8,090 | #Ex 8,090 |FEAR BMELEHMA| 8
RI& BELEHNA| 10
B MEBAAZMA| 10 | 3,780 | 3,240 | 2,484
WAZ 9,530 | 8% 9,530 |[&F Sard—iL k| 10
5 A% JaFId—LF| 10
£ Hh Yard— K| 10
ES B4E&SL | 10| 6264 5940 | 5,400
WL BAESL | 10| 3,240 2,700
B BESL | 10
RE vF/ 24—k 10
L >F /24— 10
£ # >+ 24—+ 10
#L 775 | ABA 775 |1B 5 = 10
= ] 10
BH s 10
mEFET L 2,281 | #BH 2,281 [lL Z 77V 5 2,160 [ 1,080
RE 777V Z&| 5
e=S:u -7V 1
hE 20,492 [ v AAL 265 [l & =FS) 10
&k =Es] 10
BH =¥ <) 75
B4 REB 4
BH KRB
FarL i f 7.5
=R S EZi 7.5
By iz 75
IR TR 7.5
= TR 7.5
BH TR 7.5
iEhs) 20,227 |8 =45 10 | 5,400 | 4536 3,996
& ] 28 10
b =r =] 75| 1,080
FH BB 4
B REB 2
AR L e 7.5
=R FiE 75 | 3,024 2916 | 2,700
& Fizgm | 75| 2484 1,620
FarL TR 7.5
=R TR 7.5
By TR 75| 3.240| 2,160 | 1,620
SED 11,410 | €Y AAL 387 | K% v r<RA| 5
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HIFTHE - @&
KHTE #HHETR $HM6E108298 (KER)
Bifif : kg, M
NI ISR ENFEmE
x| i HEHE |RFTEHE BEAR TEn === T T e =5
i Sy v<RA| B 7,020 [ 5,400 | 4,320
£ Hh Sy Av<RA|l 5
K% B g 0.35
Tig B I 5
&b E g 5
R 1L B —x 5
K% B —x 5
By EF—x 5
iEpS 11,023 | K& Sy v<RA| B 9,180 [ 8,100 | 6,480
LY srvAvezAh| 5 8,100 [ 7,560 | 7,020
&b Sy v<RA| B 7,020 [ 4,860 | 2,700
RE E & 0.35 702 432
HLEY E g 5
£ =Yz 5 8,100 6,480
e 1Ly B —x 5
RE B A —x 5
B EF—% 5
<Y 360 | 4BxE 360 |Z 1 1,188 | 1,080 918
52 10
By 5
T—ILZAAOYV 274 | #Ex 274 (B8 1
KB 8
&b 8 9,720
Z Db RE 261 | AEx 261
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